Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Carrier.
07-10 Jeep JK (Wrangler/Unlimited)

SMITTYBILT

Note: Carefully read entire instructions thoroughly before attempting to install this product.

Parts Included QTY | Parts Included QTY
Box 1 (Bumper)

Rear Bumper 1| 3/8"x 1% Hex Bolt (Brace Base) 2

Tire Carrier Adjustable Mount (91-5433) 13/8” x 1 %" Hex Bolt (Post) 2

Nut Plate (90-3925) 1 | 3/8" Nut 4

2" x 2 ¥2" Hex Bolt (Hitch Bolt) 4 | 3/8” Flat Washer 8

%" x 1 ¥4” Hex Bolt (Side Bolt) 4

%" Flat Washer 12

%" Hex Nut (Hitch Nut) 4

Nylon Washer (90-2940) 2 Box 2 (Tire Carrier)

Circle Clip (90-4218) 1

Lug Nuts 3 | Tire Carrier 1

Zerk Fitting 1 | Complete Handle Assembly 1

XRC only Tire Carrier Brace (93-5436) 1Pistol Grip Handle (768563) 1

SRC only Tire Carrier Brace (91-5430) 15/16” x 2 2" Hex Bolt (Handle Assembly) 2

%" Nut (Tire Mount) 4 5/16” Nut 2

%" Flat Washer (Tire Mount) 4 | 5/16” Flat Washer 4

Latch Support Bracket (76856-06) 1

Step 1: Remove the factory rear bumper and hardware from the vehiele.

Step 2: Drill out the (4) holes in the center of the frame to 2", (Fig A)

-

Existing rear
frame center holes

(Fig A)
For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Carrier.
07-10 Jeep JK (Wrangler/Unlimited)

SVIITTYBILT

Step 3: Insert nut plate (90-3925) mnto the mside of the rear frame rails. (Fig B)

Nut Plate
oQ-3925

(Fig B)
Step 4: NOTE: This step might require 2 people. Raise the new SRC rear bumper (91-
5441) up into place and align the (4) holes on the frame with the holes on the hitch plate on the

bumper. (Fig C)

(Fig C) (Fig D)

!- " — ;.‘;. P __

412" X
412"

Rear bumper
91-5441

Step 5: Install the 1/2” X 4 %2” hex bolts to secure the hitch plate to the rear frame. Do not
tighten bolts at this time. (Fig D)

For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Catrrier.
07-10 Jeep JK (Wrangler/Unlimited)

Step 6: Install the (4) 2 X 1 14" into the previously installed nut plates (90-3925). (2) on the
driver’s side. (2) on the pass side. Level the bumper and torque the bolts to 90 ft./Ibs. (Fig E)

3

@ 12> [
X114”
Bolts

(Fig E)

Step 7: Torque the (4) hitch plate bolts to 90 ft./Ibs. (Fig D)

Step 8: Place nylon washer over rear bumper post. then place tire carrier on top. then an-
other nylon washer. Once the tire carrier has been place over post. swing it to the closed posi-
tion and latch it into place. Secure it with the already installed bolts (No Washers). (Fig F and

G) IMPORTANT!: Over-tightening the pinch bolts will not allow the tive carrier to swing
Sreely.

*

1357 x1
347
Bolts
%

(Fig G)

(Fig F)
For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Carrier.
07-10 Jeep JK (Wrangler/Unlimited)

SMITTYBILT

Note: When installing the tire carrier onto the bumperdo not completely tighten hardware until
assembled.

A. Put tire carrier over post. Install hardware.

B. Insert Handle into tire carrier. Install hardware

C. Close and latch tire carrier, now tighten all hardware.

Step 1: Remove the ny-lock nuts holding the handle assembly on; then slide the two bolts outward.(Fig A)
Step 2: Slide the support bracket over the bushing lining up the holes with the handle assembly
bolt holes. (Fig B, C)
Step 3: Slide the bolts back through the handle assembly and support bracket then re-install
the ny-lock nuts. (Fig E, F)

e

(Fig B) (Fig €)

(Fig D) (Fig E) (Fig F)
Step 4: Make sure the pins on the handle assembly shaft are vertical and match the support bracket
ends when the tire carrier is open. (Fig E.F.G.H)

(Fig G) ; (Fig H)

For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Carrier.
07-10 Jeep JK (Wrangler/Unlimited)

SMITTYBILT

Step 9: Install the tire carrier brace (91-5436) over the tire carrier spud and secure to the holes
in the bumper using the supplied 3/8* X 1 1/4* bolts. washers and hardware. (Fig H)

Tire Carrier
Brace

¥ Mounting Holes for (i #
387" X 1 1/4” Bolis
and Hardware

(Fig H)

Step 10: Carefully place the circle clip on top of the post over the tire carrier portion. In-
stall the Zerk fitting (90-4217) into the bumper post. Do not over tighten.

Step 11: Install the handle assembly into the end of the tire carrier. Close and lateh the tire
carrier. Secure using the supplied 2* X 1/2* bolts and hardware. (Fig I)

—— T,

e T
# THOL <0 iy re

'f'f:rru_i;;md Osl:
Auto -’ﬂﬂ”ﬂkh

() 5/16”

X2 %"
bolts

(FigI)

Step 12: Locate tire mounting bracket on the tire carrier by guiding the bracket studs into
the holes on the tire carrier. NOTE: the bracker will be offset towards the driver side. Secure
using the supplied (4) 3/8" Flat Washers. (4) Lock Nuts. Determine the best position for yvour
tire size and then tighten all hardware on mounting bracket. For best results the back side of the

tire should rest against the (Triangle) tire carrier. (Fig T)

For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Carrier.
07-10 Jeep JK (Wrangler/Unlimited)

SVITTYBILL

o

(Fig K)

Step 13: PReattach any previously unclipped wiring harnesses.

Step 14: Installation is now complete,

Product cleaning and maintenance instructions

Stainless Steel Finish — Aluminum polish may be used to polish small scratches and scuffs on the finish Wald
soap, window or glass cleaner may be used to clean the finish. Dual state powder coat finish — Mild soap. win-
dow or glass cleaner may be used to clean the fimish. In order to protect the finish. you may wax your productona
regular basis with pure camauba automotive wax. Do not use any types of soap, polish or was that contains abra-
sive that could damage the finish. Textured coated finishes should be cleaned with a mild soap on a damp
sponge. Do not apply polish or was that requires to be removed by means of buffing. This tyvpe of wax 1s com-
monly used at car wash facilities. Chrome Finish — Mild soap. window or glass cleaner may be used to clean the
finish. In order to protect the finish you should wax vour product on a regular basis with pure carnauba automotive
wax. Do not use any types of soap. polish or was that contains abrasive that could damage the finish

For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Carrier.
07-10 Jeep JK (Wrangler/Unlimited)

smi TTYILT

FANA WIS RN FLELE LW

NOTE: Carefully read entire instructions thoroughly before
attempting to install this part.

Parts Included Qty
91-5567 3rd Brake Light Bracket: Upper 1
01-5569 3rd Brake Light Bracket: Lower 1
90-6299 Hardware Pack: 3rd Brake Light Bracket 1
5/16” X 1” Gr. 8 Hex Bolt 2
5/16" SAE Flat Washer 2
5/16” Nylock Nut 4
3/8” X 1” Hex Head Self Tapping Bolt 2

INSTALLATION:

Step 1: Remove the (4) OE retaming screws on the back of the 3rd brake light housing
Save the hardware for reinstallation.

Step 2: Unclip the wiring hamess on the 3rd brake light housing and remove 1t from the
bumper.

Step 3: Install the 3rd brake light lower bracket (91-5569) to the ure carmer under the spare
tire mounting bracket. Secure using the mounting bracket stud hardware. (Fig A)
NOTE: The jog in the lower bracket will rest on the sloped side of the rive carrier

91-5569 3rd
Brake Light
Lower Bracket

\qu.nung
Br'ir.I-Ler

Guide Holes
\ ‘ Fig A B for Drilling

For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Carrier.
07-10 Jeep JK (Wrangler/Unlimited)

SMITTYBILT

Step 4;: Clamp the 3rd brake light lower bracket firmly against the tire carnier. Use the holes
in the sloped portion of the 3rd brake light lower bracket as a template to dnll the (2) upper
mounting holes. Center punch and drnll the (2) holes 1n the tire carrier using a 5/16™ drill bat.
Secure the 3rd brake Light lower bracket using the supplied 3/8 X 1" self tapping bolts.

(Fig A)

Step 5: Install the 3rd brake Light upper bracket (21-5567) to the lower bracket (91-5569).

Secure using the supplied 5/16™ X 1™ bolts and hardware into the slots. Leave the bolts hand
tght only. (Fig B)

| 915567 3rd
| Brake Light
Upper Bracket

91-5569 3rd
Brake Light

¥| Tire Mouniing

Bracket

Step 6: Place the spare tire onto the tire carmier mounting bracket. Adjust the 3rd brake light
upper bracket (91-5567) to clear the spare tire. (Fig )

Upper
Bracket

Adjustment
Slots

For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Catrrier.
07-10 Jeep JK (Wrangler/Unlimited)

Note: Make sure upper®brake light bracket follows the contour of thet{Fig C-1)

If the tore/wheel combination you have doesn'twllbgood clean fit of the uppel ®rake light
Bracket, it is recommended to fileghiaway the bottom corners of the OE brake lighthey are
rounded off. This will help prevenethossibility of damage to you tire. ( Fig C-2)

1 (Fig C-1) (Fig C-2)

For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Carrier.
07-10 Jeep JK (Wrangler/Unlimited)

SVIITTYBILT

Step 7: Remove the spare tire from the tire carrier mounting bracket. Tighten the 5/16” X
17 bolts and hardware to 15 ft./lbs.

Step 8: Install the 3rd brake light to the upper bracket (91-5567) using the previously re-
moved (4) OE bolts. (Fig D)

-5567 3rd
(4) OE ’ i Brake Light

Serews | Upper
. Bracket

Step 9: Reattach the third brake light wiring harness you previously removed.

NOTE: It is recommended to extend the 3™ brake light wiring harness. This can simply be
done by splicing the wire and using some insulated butt splice connectors and 18 guage wire,

extend the wire fo the appropriate length. It is recommended to have this done by an
experienced electrical installer.

Step 10: Installation is now complete.

The following can be used to help solve any isshasyou may have with your tire
carrier. Please read entirely before making anysidjents.

TOT TOOTIMNMTUlr OUPPUTU VVCOTAr Ity IMTHTOTTTITAUUTT PTCOOC AT OO0 1T U Io T

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear

| Bumper with Tire Catrrier.
, 5M’TTYB’LT 07-10 Jeep JK (Wrangler/Unlimited)

1. After the bumper is installed, follow the installation instructions for the tire carrier included with it.
Make sure to close and latch the tire carrier first with no load before tightening any of the
hardware. (Fig A,B)

L L | e | 5
| When handle is locked, it should be in the 3 o’clock
position.

Install tire carrier on bumper with handle, theosd
and latch. Then proceed to tighten hardware

(Fig A) (Fig B)
2. If the lock pin on the back of your handle does not go into the keyhole on the latch bracket easily
(horizontally) you can loosen the two bolts on the handle block and move slightly inward or
outward. (Fig C,D)

If the lock pin on the back of your handle
does not go into the keyhole on the latch
il bracket easily (horizontally).

(Fig C) (Fig D)

You can loosen the two bolts on the handle
block and move slightly inward or outward.

For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear
Bumper with Tire Carrier.
07-10 Jeep JK (Wrangler/Unlimited)

SMITTYBILT

3. If the lock pin on the back of your handle is too low or too high, this can be adjusted by loosening or
tightening the two end mounting bolts of the tire carrier. (Fig E,F)These two bolts provide a lot of
adjustment. This needs to be done in small increments, a % turn can accomplish a lot. It is easier to
have assistance while doing this, so you can have someone watching the latch while someone does
the wrenching. This should be done with the tire carrier slightly open.

Lock Pir '

|
’ Tightening the top
bolt in small
increments will raise
the tire carrier

Nylonring
N

(Fig E) (Fig F)

4. After you have made all the necessary adjustments proceed to mount your tire. Depending on the
size and weight you may need to go through these steps again.

Other Notes
A. Make sure you have a nylon ring installed on the bumper post before you slide the tire carrier on.
B. When handle is locked, it should be in the 3 o’clock position. (Fig A) If for some reason it is not, you
can rotate the handle simply by removing the allen head bolt, remove the handle and turn it.
Make sure to grease the tire carrier regularly.
D. In some instances the post bolts may be flush with the stover nut and/or some up to a }%4” past.

0

NOTE: There are two styles of handles included. Youuwsmeither version. To replace; simply
remove the allen head bolt on the end of the hastitee current handle off and then slide the
preferred handle on and tighten bolt.

NOTE: Included hardware may be Metric , but the sizexaoedinated to the standard hardware
kits/sizes listed.

For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



Installation Instructions:
XRC & SRC (76856,76622) Rear

Bumper with Tire Carrier.
5M’TTYB’LT 07-10 Jeep JK (Wrangler/Unlimited)

Limited Warranties

Smittybilt's products are covered under the follogvlimited warranties only. Note that the duratadrihe limited
warranty differs according to the material anddimof the product purchased. Subject to the duratnd conditions of
the limited warranty stated below, Smittybilt wartsito the original retail purchaser that its prdware free from
defects in material and workmanship. All other raaties and representations express or impliedheneby
disclaimed, including fithess for merchantabilitydesbuyer’s intended use or purpose. All partssatd “AS 1S” except
for the limited warranties granted herein. Buyssuanes all risks as to the selection, suitability performance of all
goods and products selected. This limited warrdos not cover damage or impairment in any pattounisuse,
improper installation, accident or contact withroad or off-road hazards, product modification, ioger or
inadequate cleaning and/or maintenance. Smittighilot responsible for items damaged during shigppiT his
warranty is not transferable from the original uyEor the original Buyer to be eligible for thmited warranty
coverage, the Buyer must provide proof of purch&mittybilt strongly recommends returning the \aaty
registration card.

Customer’s remedy hereunder shall be limited émiepair or replacement (at Smittybilt's optiofany defective
part(s) returned to Smittybilt at customer’s exgen$he determination of whether or not a retunped is defective or
subject to coverage under the limited warrantiatedtherein shall be made at Smittybilt's solerdison.

Limited Five (5) Year / 50,000 Mile Pro-Rata Warrarty (whichever occurs first) on Dual-Stage
Powder Coating Products -

Smittybilt dual-stage powder coated products cdreyforegoing limited repair or replacement warydot a
period of (5) years or 50,000 miles (whichever osdirst) from date of purchase against workmansinigh defects
in the material, provided that any claim submitader (2.5) years from date of purchase shallccepted, be
satisfied by Smittybilt offering customer a crealit the purchase of a replacement product equéty@ércent
(50%) of customer’s initial purchase price.

To assure product quality, Smittybilt reservesrigkt to change product design, material, spedificeand finishes
without prior notice to customers. This limitedwaaty gives you specific legal rights and you radso have other
rights, which may vary from state to state. Sotages do not allow limitations on how long an iregdliwarranty lasts,
so the above limitations may not apply as to yaAiso, some states do not allow the exclusion oitéition of
incidental or consequential damages, so the alvations or exclusions may not apply to you. ®Sybilt reserves
the right to discontinue product lines and subtgifaroducts, or provide other remedies than thistedlin this limited
warranty for those discontinued products.

Warning
Rollover and other types of vehicle accidents negylt in serious injury or death to you, your pagges and others
sharing the road. Smittybilt accessories are deierand are not intended to reduce or avoid ynjurdamage in the
event of an accident. The weight and locationnittybilt accessories may affect your vehicles’ dlarg, stability and
performance, creating an increased risk of accidentllover. Before installing any accessory,astate laws and
assure that the accessory will not obscure anyslighinterfere with proper operation on your védigsafety
equipment. Consult your owner’s manual and thettghiit instructions, or additional safety inforn. Smittybilt
products, nor the warnings contained herein, at@sobstitute for your safe driving. Don'’t driakd drive, 2'ways
use seat belts and do~'t drive faster than conditfmermit.

For Technical Support/Warranty Information please call 310-762-9944

Smittybilt, 400 West Artesia Blvd, Compton, CA 9020



